
STRAIGHT SHOT™ MOUNTING INSTRUCTIONS
OJD & Drill Rebounders

SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 20 mar 2019

Before working on your planter or drill
DANGER: When storing or working on the planter or drill always install cylinder stops or place it on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation.

OVER ▬►

Straight Shot Package Contents
(per single row)

Item	 Quantity
Straight Shot .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Threaded Female QC  .  .  .  .  .  .  .  .  .  . 1
1/4″ Hose .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Metal Plate . . . . . . . . . . . . . . . . . . 1
L-Bracket . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Washer  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Propeller T Nut  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Screws for T Nut Slotted . . . . . . . 1
14 x 3/8″ Screws .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
Instruction Sheet  .  .  .  .  .  .  .  .  .  .  .  .  . 1

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832, 6,763,773 and 7,121,216.
71495 rd. 397 - indianola, ne 69034 - phone: 800-382-2607 - fax: 308-364-2410 - info@schaffert.com - www.schaffert.com - Setp 18,2009

SCHAFFERT MFG. CO. INC. - phone: 800-382-2607 - fax: 308-364-2410

STRAIGHT SHOT MOUNTING INSTRUCTIONS
OPTIONAL FITTINGS FOR REBOUNDERS TO PUT ON

FERTILIZER INOCULANTS AND/OR INSECTICIDES IN FURROW

(Read Instructions Completely before Beginning Installation)

Before working on your planter or drill
DANGER: when storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the
Rebounder.WARNING: do not roll back or back up the planter in or on the ground as this can result in damage to the Rebounder.

Mounting Instructions
Before you begin, verify all items listed in the “package contents” table at the right.

The Straight shot works very well on planter or drills that have press wheels that run on or in the furrow. The
straight shot will keep the fertilizer from caking up on the press wheel. Also works very well when liquid inoc-
ulants or insecticides need to be put directly on the seed.

Step #1: take the propeller t-nut (Fig A) and insert it into back side of one of the upper holes of the
drill Rebounders (Fig B) or into the hole on the back side of the saw tooth insert on the JD
planter type Rebounder. (Fig C)

Step #2: Place the L-bracket (Fig D) with the small hole down on the Rebounder with the washer
(Fig E) on top, over the hole of the propeller t-nut.

Step #3: Using screw driver, tighten the round-head, slotted screw (10-24 x 3/8”) (Fig F) into the pro-
peller t-nut.

Step #4: thread the 1/4” tube x 1/8” female NPTF (Fig. G) into the straight shot.
Step #5: Drill a 3/16” hole on the top side of the Rebounder centered between the 2

screw holes where the metal plate goes. (FIg. H). Then turn the Rebounder over
with the drill bit in the hole angling down, groove the hole at a 35% angle to the
Rebounder. This angle directs the flow to the seed.

Step #6: Now you are ready to place the straight shot between the molded tabs. Place the
plate over the straight shot and install the 2 # 12x3/8” pan phillips type screws.

Step #7: Run the hose through the L-Bracket on the Rebounder and push hose into Quick
Coupler on the Rebounder. To remove hose from Quick Coupler press ring down
around the hose against the Quick Coupler so hose will release from the Quick
Coupler (Fig K).

Step #8: Follow planter or drill mounting instructions for mounting the Rebounder.

Straight Shot Package Contents
(per single row)

Item Quantity
Straight Shot . . . . . . . . . . . . . . . . . . . . 1
Threaded Female QC . . . . . . . . . . . . . . 1
1/4” hose. . . . . . . . . . . . . . . . . . . . . . . 1
Metal Plate . . . . . . . . . . . . . . . . . . . . . . 1
L-Bracket . . . . . . . . . . . . . . . . . . . . . . . 1
Washer . . . . . . . . . . . . . . . . . . . . . . . . . 1
Propeller T Nut . . . . . . . . . . . . . . . . . . . 1
Screws for T Nut Slotted. . . . . . . . . . . . 1
Screws 12x3/8. . . . . . . . . . . . . . . . . . . 2
Instruction Sheet . . . . . . . . . . . . . . . . . 1

fig. (I)

fig. (A)

fig. (C)

fig. (D)

fig. (E)

fig. (F)

fig. (H)

fig. (J)

fig. (J)

fig. (B)

fig. (G)

fig. (K)

1 Take the propeller t-nut (fig. A) and insert it into the back side of one 
of the upper holes of the drill Rebounders (fig. B) or into the hole on 
the back side of the sawtooth insert on the OJD John Deere planter 
type Rebounder.

2 Place the L-bracket (fig. D) with the small hole down on the 
Rebounder with the washer (fig. E) on top, over the hole of the 
propeller t-nut.

3 Using screwdriver, tighten the round-head slotted 10-24 x 3/8" screw 
(fig. F) into the propeller t-nut.

4 Thread the 1/4" tube x 1/8" female NPTF (fig. G) into the Straight 
Shot.

5 Set the Rebounder upside down. Drill a 5/32" hole on the top side 
of the Rebounder, 1-3/4" from the end of drill Rebounders or 2" from 
the end of OJD Rebounders, grooving the hole at a 35° angle to the 
Rebounder (fig. I). This angle directs the flow to the seed.

6 Place the Straight Shot between the moded tabs. Place the plate over 
the Stright Shot and install the two #14 x 3/8" pan phillips type screws 
(fig. J).

7 Run the hose through the L-bracket on the Rebounder and push the 
hose into the Quick Coupler on the Rebounder. To remove hose from 
the Quick Coupler, press ring down around the hose against the Quick 
Couple so that the hose will release (fig. K).

8 Follow Rebounder Mounting Instructions for mounting the Rebounder.



STRAIGHT SHOT™ MOUNTING INSTRUCTIONS
Drilling the Hole in OJD & Drill Rebounders

SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 20 mar 2019

Set the Rebounder upside down.

Drill a 5/32" hole on the top side of the Rebounder.  
For Drill Rebounders make this hole 1-3/4" from the end;  
for OJD sawtooth Rebounders make the hole 2" from the end. 
Drill the hole in the center of the Rebounder.

Groove the hole at a 35° angle.  
This angle directs the flow to the seed.

35° angle
5/32" drill bit

Drill Rebounders 1-3/4"
OJD Rebounders 2"


